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Run 5826 quartetwise, asymQOsub: BeamON — =eeeeee Histogram Vars

Positive Hel (ON): 0.000000 +/- 0.000000
Negative Hel (ON): 0.000000 +/- 0.000000
Positive Hel (OFF): 0.000000 +/- 0.000000
Negative Hel (OFF): 0.000000 +/- 0.000000
-------- Sums and Diffs

On Diff: 0.000000 +/- 0.000000

Off Diff: 0.000000 +/- 0.000000
On Sum: 0.000000 +/- 0.000000
Off Sum: 0.000000 +/- 0.000000
-------- Asymmetries
On Asym: -nan +/- -nan (ppt)
Off Asym: -nan +/- -nan (ppt)
-------- Bkgd Subtraction

BkSub Sum: 0.000000 +/- 0.000000
BkSub Asym: -nan +/- nan (ppt)







